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Run 5596 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—
Entrie=: 44768
Mean: 121172 «/- 00026
Sid Dhey: 05588 +~ 00079

=== Lager OFF ---
Entrie=: 36003
Mean: 15674 «- 0.0011
Sid Dhey: 002129 4 00008

Run 5596 quartetwize, Diffs)

=== Laser O -—
Entries: 44768
Mean: -0.6822 «/- Du0d21
Sid Dhey: 04414 =~ D005

=== Laser OFF ---
Eniries: 36083
Mean: 00013 «- 0.0014
Sbd Dev: 0.2611 - 0.0070

Run 5596 quartetwise, Asyms(

=== Laser ON -—
Entries: 44768
Mean: -31.3746 +/- 0.09549
Sid Dhev: 20,3000 /- LDETE

=== Laser OFF ---
Entries: 36083
Mean: 00586 +- 0.0632
Sid Dev: 120082 +/- (L0447
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Run 5596 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-
Entries: 44768
Mean: 12,7954 /- 000020
Sid Dhey- 0U5830 - 00079

=== Lager OFF ---
Enlrie=: I8003
Mean: 1.5061 «/- 0.0011
Sid Dev: 0020120 & 00000

Run 5596 quartetwize, Sums0

=== Laser O -—-
Entries: 44768
Mean: 24.971 66 &~ 00050
Sid Dev: 10612 - 00035

== Laser OFF ---
Entries: 380083
Mean: 31735 +- D18

Sid Drey: 0L3363 - 00002
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Run 5598 quartetwise, PosHelAccd
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Run 5598 quartetwise, Diifsd
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Run 5536 quartetwise, Asyms4
1E0n — === Laser ON -—-
— Enlries: 44768
1800 — Mean: -31.8227 +/- 00825
— Sbd Dev: 174500 +0- LOSEZ
140t :_ === Laser OFF ---
1700 — Eniries; JE003
— Mean: -0.0238 «/- 028D
1000 — Std Dev: 5.5712 +/- 0.0207
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Run 5586 quartetwise, NegHalAccd
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— Lussar OFF —
Erlnn: 3H0E T
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Run 5536 quartetwizse, Sumsd
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Run 5596 quartetwise, Asyms LISbg1

Rillhs

LU

=== Laser O -—
Entrie=: 44768
Mean: 00061 +- 0,002
Sid Dhey: 04469 &~ D005

=== Lager OFF ---
Entrie=: 36003
Mean: 00059 +- 0.0
Sid Dey: 04462 =~ 00007
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Run 5596 quartetwize, Asyms DSbg1

=== Laser O -—
Entries: 44768
Mean: 00023 «- 0.0006
Sid Dhey: 0U1287 4~ 00004

=== Laser OFF ---
Eniries: 36083
Mean: 00032 +- 0.0007
Sid Dhey: 001287 4~ D.0005

Run 5596 quartetwise, Asyms Horiz Fingar

=== Laser ON -—
Entries: 44768
Mean: -0.00649 «- 0L001F
Sid Dey: 0ET0 - 000072

=== Laser OFF ---
Entries: 36083
Mean: -0.0036 «- 0002F
Sid Dey: 0.51371 = 00078
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Run 5598 quaretwize, Asyms USbg2

b

=== Laser O -—-
Entries: 44768
Mean: 00052 «- Q014
Sid Dhew: 0U3029 & 00070

=== Lager OFF ---
Enlrie=: I8003
Mean: 00039 «- 0.0016
Sid Dhey: 03063 & 0.00711
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Run 5596 quartetwize, Asyms DShg2
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=== Laser O -—-
Entries: 44768
Mean: 00021 «- 0.0006
Sid Dev: 01174 &&= 00004

== Laser OFF ---
Entries: 380083
Mean: 000020 +- (.000E

Sbd Dev: 01171 &~ 0.0004

Run 5586 quartetwise, Asyms Vert Finger

0.4 0.6

1.5

0.5

=== Laser O -—-
Entries: 44768
Mean: -0.00498 «- 00012
Sid Dhev: 020682 & 00009

== Laser OFF ---
Enlries: 38083
Mean: 00052 +- 0.0018
Sid Dev: 03416 &~ 00073
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Run 5596 quartetwize, posHE vs time
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Run 5596 guartetwize, negHO vs time
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Run 5596 quartetwise, posH4 vs time
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Run 5596 quartetwize, posH4 vs time
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Run 5596 guartetwize, negH4 vs time
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Run 5596 gquartetwize, USbg2 ve time

Run 5596 quartetwize, USbgl ve time
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